@ for planners

Module 2: Introduction to Climate change policy and context

Individual or Pairs Activity: A pub less quiz

Is the following measure an adaptation to the effects of climate change or mitigation against the effects of
climate change?

How would it reduce greenhouse gas emissions or vulnerability to the effects of climate change?

You will score 1 point for each correct answer, and one for your reasons.

Measure Adaptation or How would it reduce greenhouse
mitigation? gas emissions or vulnerability to
the effects of climate change?

1 Policy requiring travel plans for major business
development and educational establishments

2 SPD on sustainable construction

3 Policy requiring low carbon design and on site
renewable energy contribution

4 Policy requiring sustainable urban drainage
systems on major sites

5 Enforcement of requirement for design stage
BREEAM/ CSH certificate and post construction
certificates
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Measure Adaptation or Why?
mitigation?

6 Policy to safeguard wharves and rail sidings to
encourage freight movement by rail and water

7 Supporting a community to produce a
neighbourhood plan to bring forward a renewable
energy scheme

8 Requirement for public transport link from new

urban extension to city centre

9 Protection of agricultural land for food production

10 | Requiring an increase in tree cover in major
applications in town centre locations

11 | SPD on green roofs, securing green roofs at pre
application stage of proposals

12 | Granting permission for potash mining
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